
CS1746. 29/04/2008

Barbecue B9C-4C X Electrolux G30/30 UK

1 Pg 1.0

2401

2210

2397
2398

2399

2400

2402

2401

2403

2400

2402

2403

2210

auro
Casella di testo
BARBECUE I7C-4 STEEL G30/30




2210 ZS3871 Rubber BBQ 2
2397 ZS3996 Protection covering BBQ 90 1
2398 ZS3997 Support for external skewers-holder BBQ 90 1
2399 ZS3998 Support for inner skewers-holder BBQ 90 1
2400 ZS3999 Hinge hood BBQ 2
2401 ZS4000 Pivot hinge hood BBQ 2
2402 ZS4001 Sliding upper device hood BBQ 2
2403 ZS4002 Sliding lower device hood BBQ 2

N° Object Code Description Qty

Pg 1.1CS1746.1 29/04/2008



CS1746.1 29/04/2008

Barbecue B9C-4C X Electrolux G30/30 UK

Pg 2.0

2513

2405

1350

2226

2412

2412

2412

2412

2169

2173

2175

2172

2172

2178

2178

2140

2140

2174

2174

2139

2139

2213

2211

2165

2163

2162

2164

22132171

17

2215

19

797

2415

2414

2416

2416

2416

2416
2419

2419

2418

2417

2419

2419

2174

2513

2213

2213

447

auro
Casella di testo
BARBECUE I7C-4 STEEL G30/30 




17 370788 Ramp support bridle 1
19 400689 Gasket gas inlet 1

447 ZS1061 Spring for griddle heating el. support 4
797 410645 Pipe holder (G30) 1

1350 ZS2500 Turnspit for oven 90 (4 forks + handle) - 04 1
2139 ZS3390 Two-sided cast-iron griddle for BBQ 2
2140 ZS3391 Cast-iron open grid for BBQ 2
2162 ZS3445 Rear side combustion area BBQ 90 1
2163 ZS3446 Front side combustion area BBQ 90 1
2164 ZS3447 Right side combustion area BBQ 1
2165 ZS3448 Left side combustion area BBQ 1
2169 ZS3452 Support for taps cooking top BBQ 90 1
2171 ZS3454 Ramp support for top 90 BBQ 1
2172 ZS3455 Burners deflector top BBQ 3
2173 ZS3456 Ramp 4 burners cooktop BBQ 90 1
2174 ZS3457 Burners cooktop BBQ 4
2175 ZS3458 Tap  buner on BBQ side table 4
2178 ZS3467 Burners heat spreader top BBQ 2
2211 ZS3916 Protection taps cooktop 90 BBQ 1
2213 ZS3918 Guide for drip tray top BBQ 4
2215 ZS3920 Tool for griddle cleaning BBQ 1
2226 GR3979 Assembly complete lower reinforcement right side 1

2414 ZS4148 Right cap for control panel BBQ 1
2415 ZS4149 Left cap for control panel BBQ 1

2405 ZS4004 Support for front skewers-holder BBQ 1
2412 ZS4142 Knob XXL for BBQ 4
2416 ZS4150 Ceramic tiles for BBQ 12
2417 ZS4151 Central support for ceramic tiles for BBQ 1

2418 ZS4152 Lateral support for ceramic tiles for BBQ 2
2419 ZS4153 Rear/front support for ceramic tiles for BBQ 4
2513 ZS4217 Drip tray top BBQ 70/90 2

N° Object Code Description Qty N° Object Code Description Qty

Pg 2.1CS1746.1 29/04/2008



2927

2927

2928

2558

2406

2406

2406

2406

2557

2406

2406

2559

2410

2928

2928

2411

2928

CS1746.1 29/04/2008

Barbecue B9C-4C X Electrolux G30/30 UK

Pg 3.0

auro
Casella di testo
Barbecue I9C-4 STEEL G30/30 EU




2406 ZS4008 Support for side/rear wooden tables BBQ 6
2410 ZS4136 Support for rear table island BBQ 1
2411 ZS4137 Support left for rear bar BBQ elx 1
2557 ZS4005 Side wood right top BBQ 1
2558 ZS4006 Side wood left top BBQ 1
2559 ZS4007 Rear wood top BBQ 90 1
2927 ZS4298 Washer 5.3 x 15 x 1.2 s.steel 4
2928 ZS4304 Washer 10.5 x 20 x2 s.steel 4

N° Object Code Description Qty

Pg 3.1CS1746.1 29/04/2008



2206

123

123

2142

2151

2150

2379

2154

2154

2180

2156

2154

2154

2155

2152

2217

2198
2198

2197

2197

2217

20

2381

2382

2413

2396

2179

2179

2380

2409

2383

2383

2409

2407

2205

2407

2205

2408

2205

2210

2206

2206

123

CS1746.1 29/04/2008

Barbecue B9C-4C X Electrolux G30/30 UK

Pg 4.0

auro
Casella di testo
BARBECUE I9C-4 STEEL G30/30 EU




20 401520 Black cap for glass front panel 1
123 541011 Spacer washer for built-in oven 4

2142 ZS3422 Hinge reinforcement bottle compartement trolley BBQ 1
2150 ZS3430 Rear side trolley BBQ 90 1
2151 ZS3431 Ceiling trolley BBQ 1
2152 ZS3432 Base trolley BBQ 90 1
2154 ZS3434 Lower panel trolley side BBQ 4
2155 ZS3435 Upper central support for  trolley BBQ 1
2156 ZS3436 Front central support for  trolley BBQ 1
2179 GR3468 Assembly complete lower reinforcement right side 2

2206 ZS3754 Tapping screw M8 galvanized 16
2180 ZS3469 Tray for gas bottel trolley BBQ 90 1
2197 ZS3632 Fixed wheel BBQ D100 2
2198 ZS3633 Turning wheel BBQ D100 2
2210 ZS3871 Rubber BBQ 2
2217 ZS3922 H0 steel hinge base BBQ 2
2379 GR3967 Assembly complete lower reinforcement right side 1

2205 ZS3753 Tapping screw M5 s.steel 2
2383 ZS3978 Support for control panel BBQ 1
2409 ZS4135 Support for control panel and side BBQ ETX 1

2380 GR3968 Assembly complete lower reinforcement right side 1
2205 ZS3753 Tapping screw M5 s.steel 2
2383 ZS3978 Support for control panel BBQ 1
2409 ZS4135 Support for control panel and side BBQ ETX 1

2381 ZS3969 Rear upper side trolley BBQ 90 1
2382 ZS3970 Rear lower side trolley BBQ 90 1
2396 GR3995 Assembly complete lower reinforcement right side 1

2206 ZS3754 Tapping screw M8 galvanized 4

2407 ZS4009 Reinforcement rear for side BBQ 2
2408 ZS4010 Side front reinforcement BBQ 2
2413 ZS4147 Ceiling drawer BBQ 1

N° Object Code Description Qty N° Object Code Description Qty

Pg 4.1CS1746.1 29/04/2008



CS1746.1 29/04/2008

Barbecue B9C-4C X Electrolux G30/30 UK

Pg 5.0

813

420

2576

2141

2384

2393

2393

2385

811

2395

2210

2210

2210

2216

2216

2145

810

391

812

2147

2146

817
814

818

2389

2388

2386

2388

391
817

818

2387

391

420
2394

815

391

2577

auro
Casella di testo
BARBECUE I9C-4 STEEL G30/30




391 ZS0899 Couple legobox rails partial opening 2
420 ZS1002 Blocking device for drawer support 2 hole 2
810 ZS0449 Drawer right corner 1
811 ZS0451 Drawer left corner 1
812 ZS0453 Drawer right side 1
813 ZS0454 Drawer left side 1
814 ZS0455 Drawer right fixing support 1
815 ZS0456 Drawer left fixing support 1
817 ZS0458 Drawer right regulation clip 2
818 ZS0459 Drawer left regulation clip 2

2141 ZS3421 Hinge reinforcement door bottle compartement trolley BBQ 1
2145 ZS3425 Drawer bbq trolley rear side 1
2146 ZS3426 Support for clip drawer trolley BBQ 1
2147 ZS3427 Bottom drawer trolley BBQ 1
2210 ZS3871 Rubber BBQ 6
2216 ZS3921 Doors hinge 94° BBQ 2
2384 ZS3982 Counterdoor bottle door trolley BBQ 1
2385 ZS3983 Counterdoor drawer trolley BBQ 1
2386 ZS3984 Protection film for drawer trolley BBQ 1
2387 ZS3985 Bottom drawer trolley BBQ 1
2388 ZS3986 Side drawer trolley BBQ 2
2389 ZS3987 Rear drawer trolley BBQ 1
2393 ZS3992 Drawer door for bottle compartement BBQ 90 2
2394 ZS3993 Counterdoor inner drawer trolley BBQ 1
2395 ZS3994 Drawer door for inside drawer BBQ 90 1
2576 GR4496 Assembly complete lower reinforcement right side 1

2577 ZS4547 Inner side compartement BBQ 1

N° Object Code Description Qty N° Object Code Description Qty

Pg 5.1CS1746.1 29/04/2008



222 ZS0378 Polystyrene door protection 2
1093 410828 Pipe support 1
1210 BS0377 Adhesive tape 33 mt x 17h mm x th 0,6 mm (3M 4930) 160
1424 ZS2629 White glass wool for rear side 60 oven 04 2
2218 ZS3928 Cotter pin "R-shaped" white wire 4
2355 ZS4238 Instruction booklet BBQ Electrolux UK 1
2356 ZS4239 Instruction booklet BBQ Electrolux FR 1
2357 ZS4240 Instruction booklet BBQ Electrolux SE 1
2358 ZS4241 Instruction booklet BBQ Electrolux DK 1
2390 ZS3988 Lower panel drawer BBQ 1
2391 ZS3989 Side panel drawer BBQ 2
2392 ZS3990 Rear panel drawer BBQ 1
2426 ZS4265 Instruction booklet BBQ Electrolux IT 1
2427 ZS4268 Instruction booklet BBQ Electrolux DE 1
2428 ZS4303 Hole cap black plastic 6
2757 ZS4590 Service booklet Electrolux 1
2848 ZS4794 Adapter for energy regulator 1
2849 ZS4795 Adapter for energy regulator 0,8
2850 ZS4796 Adapter for energy regulator 2

N° Object Code Description Qty

Barbecue B9C-4C X Electrolux G30/30 UK

Pg 6.1CS1746.1 29/04/2008

auro
Casella di testo
BARBECUE I9C-4 STEEL G30/30 EU



